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Logikfunktion Logik- Schaltbild Wabhrheitstabelle
Bildzeichen pneumatisch (Funktionstabelle)
E1 E2 A
UND e CE I e 0 |0
(Konjunktion) -—] o 1 o
1 (0] 0
1 1 1
E1 | E2 | A
UND-Nicht I P TN O 19 |1
(NAND) €2 | b2 o 1 1
(Scheffer-Strich) 1 o 1
1 1 (0]
A E1 E2 A
ODER 85 s F@W 0 oo
(DiSjUnktiOn) E El E2 o 1 1
1 o) 1
1 1 1
E2 A
ODER-Nicht B =] a 9 1.1
(NOR) g2l 1 10
0 o
1 o
E2 A
Ky 2 (0] 1
Aquivalenz e | : 5
o) [e}
1 1
E2 | A
Antivalenz % 0 0
(Exclusiv-Oder) E 1 1
[e) 1
1 [e}
E2 A
Inhibition - c | o
(Sperrgatter) EZg 1 o
(0] 1
1 (o)
E2 A
Implikation El g 0 1
(Sperrgatter- E2 | 1 1
Verneinung) o o
1 1
Negation El A
(Verneinung) Bl 1
(0]
Identitat El A
o
1

Speicher el

(Flip-Flop)

—
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